Lattice Multiplication (J)

Use lattice multiplication to find each product.

5 6 1 1 8 4 1 6
2 7
6 8
5 8
6 2
5611 x 2656 = 8416 x 7882 =
1 9 5 5 9 8 8 9
7 5
8 6
2 1
1 0
1955 x 7821 = 9889 x 5610 =
1 3 8 3 8 6 5 3
6 3
5 8
1 1
0 9
1383 x 6510 = 8653 x 3819 =
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Lattice Multiplication (J) Answers

Use lattice multiplication to find each product.

5 6 1 1 8 4 1 6
T Tt 10 10 7 , 5 /712 710 /14 /) 4
1 0 2 2 2 6 6 8 7 2
3 3 0 0 6 6 3 0 4 8
4 0 6 6 6 6 4 2 8 8
2 3 0 0 5 6 3 0 4 8
9 5 0 5 5 3 4 2 8 8
3 3 0 0 6 1 0 0 1 )
0 0 6 6 6 3 6 8 2 2
2 8 1 6 4 9 1 2
5611 x 2656 = 14,902,816 8416 x 7882 = 66,334,912
1 9 5 5 9 8 8 9
0 6 3 3 7 4 4 4 4 5
1 7 3 5 5 5 5 0 0 5
0 7 4 4 8 5 4 4 5 6
5 8 2 0 0 5 4 8 8 4
o T AT T, 0 /10 10 10 /] 4
2 2 8 0 0 4 9 8 8 9
0 0 0 0 1 0 0 0 0 0
9 1 9 5 5 7 0 0 0 0
0 0 5 5 7 2 9 0
1955 x 7821 = 15,290,055 9889 x 5610 = 55,477,290
1 3 8 3 8 6 5 3
0 1 4 1 6 2 1 1 0 3
0 6 8 8 8 3 4 8 5 9
0 1 4 1 5 6 4 4 2 8
9 5 5 0 5 3 4 8 0 4
0 0 0 0 1 0 0 0 0 1
0 1 3 8 3 0 8 6 5 3
0 0 0 0 0 7 5 4 2 9
0 0 0 0 0 4 2 4 5 7
3 3 3 0 5 8 0 7
1383 x 6510 = 9,003,330 8653 x 3819 = 33,045,807
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